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Shade only one arﬁwerml-ﬁ-md only

Time allowed: 1 hour

INSTRUCTIONS:

it comme=ys the meaning of the undearined
sentuncas:

thefangersteam, the Enyimhba
=i oot to be the dark horse {A) played most

: (8] played their wsual form (C) wan
i umctfﬂly{n}lustas expected (E) won asexpecied.

He spoke with his heart |n s mouth. (A) couragenusly
(Bywith such unusual cowardice {C) with a bot ol
canfusian in hisspeech (1) without being able to make

up his mind (E} with fright and agitation,

z

The leader in today's lssua of punch Mewspaper facuses on
inflation. (&) president (B} hesdline (C) eotoa (D)
colurminist (E) proprietor,

All his plans fell throush, (A) failed (B) were
accomiplished [C) had to be reviewed | Djwere rejected
(E) fell,

He stared at her (A) glanced (B} peeped
(D) Gazed  (E) fiwed

(L} fookad

As he was agullible leader, his folowers ook advantage

of him. (A} He was weak and unable to enforce his
autharity { B)He was partial and unfair in dispensing  Justice
(C}Hiwas simple minded toa feult (D) He was

Sow tw att {E) He was ktking I education -and
experience in everyday alfairs,

Hiis surmmary of the feciune wiss brigd and to the point
(A)careful (B} precise () acourste (O] exact (Elcrucial,

(30 you have the same aversion 251 dofor home videos?
() bitterness (8] dislike (C) criticisn (D) indignatin (E)
nCe,

1 did not think  she could be so easily_taken jn_by his
pretences. (A) Aattered {Bidecsived (O] pregriated

(D) Owvercome  (E) blackmailed

1. The witness was guilty of gwearing 1o 2 siatement he
ke to be false, (A)forgeny (B)perjury () fibad

(D) sander  (E)affidavit,

Must of his pbservations were wide of the marlc
(&) comprehensive (B) Irrelevant (C) pertinent {D) came
rather late {E) unacceptabde.

11.

12. The clerk refused to answer for the mistakes made by the
manager and his assistanis, (A) to reply to (8) to give an
answer (L) toexplaln (D) o accept responsibifity
{E)toaccount for

13 Good cilizens should take the pastof agood . government
when it is being attacked by the foreign press. (A} =peak
in support af (B) explain the part played by (C) act Bke 3
mepresentative of (D} emphasize the progress mads by
{E)outline the virtues of,

Ll

The principal of my school has a varlety of peculiarities,
The mest conspiuous s the wey he gasticulates when
making a seriows point.(4) shows anglety when making
a serious point (B) breaks down when taiking serioushy
(Cuses his hands and arms &5 a sign (D) bows his head
in hurmnility (E)shakes his head from one side 1o the otter
15, He heard the |oud noise of the huge air-rald siren.
(Ajburr {B)oack (C)rumble (D) whistie (E)wall,

One of the stages of the creative process s the
incubation period, This refars to the period when (A)
the ides Is firmly fixed through repetiion (B) the
person suddenly comes upen the idea (C) the person
thinks over the Idea (D) the idea yields conorete
reeults (E} the idea is given up.

17, When a man IS [mmune to aniliness, ha s

(A opposed toit (B) attached to it (C) hated by it
(O} protacted against it (B) addicted ta it,

The bwo boxers were neck and neck up all the sidh
round bl the seventh and final round, the bigger ane
st growing. { A) eould ne lanoer stand on his fest

(B) failed to maintain his position () was beaten
(O} bescame dizzy (E) becamea a punching bag.

19, Heuses his saings ta bring up his nephew

(Alead (B)occompany (Clfesd (D) support
{E) conduct

20 Whenever I traved abroad, | abways bring, om my
retum, photographs, postcards amd small items as
sopvenirg. (A)mementoes (B} remembrance
(Cymemoriale  (memorable  (E) property,

INSTHUCTIONS
Complete each of the following sentences by choasing
the option that most suitably fills the space

21, When the begaar was tired he
roadside.

_ down by the
(Aied (BYald (C)layed (D)l=y(D) lain

Hedid not like leaving the class early.
(A} we(B) us (C) our (D) aurselves (E) our sehves,

22

23, Before the operation the dentist found that his
patient’s teath (A} hawve fong decayed
{BYhave long been docayed {C) have long being
decayed (D)had long decayed  (Ejhad been decaved.
24. The employer, not the salesman and his
representative, responsible for the Inss aof
revenue. (Adare (Blare being (Clare never [(D)have
bean {E) ks,

25, The boy was bom Defore his parent, achually got
miarried and so the court has declased him
(&) llegal (Blillegitimate (C)ielt (Dyuniawful
{Ejuntenabls,

26. As he was still owing me twa naim, 1 was careful mot
to him any mone money, (A) eredit {Bloan
{Cibomow  (D)extend  {E}lend,
Last week the

largest | had ever seen.
{Hjcongregation
(D} sudience

at the theatre was the
[A) assambly
{C) comvention
{E}croiwd,

[t
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25,

30,

31,

32

1.

35,

37

40.

The grean snake which lives in green grass is using
a perfiect __{A) ambush {B) undercover
(Clcamouflzge  (D)shelter  (E)subterfuge.
In order to canry out the necessary past mortem
examination, the dead body was

{A)extracted  {B) extradited (C)exiled
{Dexhumed  (E)expelied.

Remember this matter |s strictly

{A)between youand[ (B)among youand I
(Clamongyou andme (D) between you and me
{E) between you and  myself,

A rectangular plcture Gem x Bem is enclosed by a
frame Yacm wide. Calculate the area of the
frame.(A)15 sq.om. (B)20 sg.om.  (C) 13 sq.om
(D)l6sg.cm  (E)17sq.cm.

If the four interior angles of a guadrilateral are
{P+ 10", (P- 30", (2P - 45)" and (P + 1507, then
Pis:(A)125" (B)82° (C)13%" (D)10s” (E)60°

The annual profits of @ transport business were
divided between the two partners & and B in the
ratio 3:5, If B recelved 3,000 more than A, the
total profitwas:  (A)M5,000 {B) 1,800
(C)W12,000  (D)24,000 (E)N8,000

Ina school there are 35 students in class 24 and 40
in class 2B. The mean score for class 2A In an
English Litersture examination 5 60.0 and
that for 2B In the same paper is 52.5. Find,
to one place of decdimal, the mean for the
combined classes. (A)1.5 (B)S56.0 (C)56.2
(D) 56 (E)56.5

Which of the following fractions is less than
one - thind? {Al22/63 (B) 4/11
(Ci15/M46  (D)33/98 (E) 122/363

A baking recdpe calls for 2.5kg of sugar
and 4.5kg of flour With this recipe, some
cake were baked using 24.5kg of a mixture of
sugar and flour, How much sugar was used?
(A)12.25kg (B)6.7Skg  (C)E.75kg
(D)15.75kg  (E)8.25kg.

If N560.70 is shared in the ratio 7:2:1, what
is the smallest share? (A) N392.49  (B)NS6.70
(CN113.40  (D)N112.14  (E)NS6.07

IF 2%+ 3y = land x- 2y = 11,find (x + y)
(A5 (B3 (08 (D)2 (E)-2

A sum of money was Invested at 8% per
annum simple interest. If after 4 years, the
money amounts bty N330, find the amount
originalty  invested. {A} N180 (BN16S
{CINISD (DIN200  (E)N250

If m=3, p=-310, q=7 and r=5/2 evaluate
mip+qg+r} (A)19.50 (B)19.15 (C)18.95
{03118.05

41

44,

43.

48,

50

A man walks 1km due east and then 1lkm d
north, His displacement is (A} 1km N1S'E

{B)Llkm N30'E (C) v2km N45E (D) v2km N6O'
(E) 2kmN75'E

A palm fruit dropped to the ground from the top of
tree 45m tall. How lomg does it take it to reach th
ground? (g = 10ms™) (A)9s (B}M.55 (C)Bs
{D)7.55(E)3s

Of the following, which s different from t

others? [A)x-rays {Blgamma ra
(Clcathode rays (Djuktraviclet
(Ellnfrared rays.

Which of the following elements are real  magn
maiergis? (A) Iron, Steel and Nic
(B)CopperSteet and Iron {CiLead, Iron a
Bass  (D)Glass, Lead and Steel
Iﬁilﬁﬂmm

!-wgmmuiacedun the pan of
anexiension of 5cm. Ifa 159

&= placed on the pan of the same  spring balan
theartension i5:

m (B)6.5cm (C)7.5cm (D)10.8¢

IF the pressure on 100cm’ of Ideal
‘goubled while Its Kelvin temperature
halved, then the new wvolume of the gas
Bbecome (A)25cm’  (B)SOcm’  (C)100cm’
{D)200cm™  (E)}400cm’
;lmrﬂsammdimhkﬁaﬁmh,
EDunt rate was obzerved to
800 Wisat ws (1S Coumt ratn 3t zarg Hme?
(a3200  (B}1200 {C)1600
(Epon

b

{D)2a

A moom & heated by means of a charco
fire. &n occupant of the room standi
awiy from the fire is warmed mainly by
{A}convection {Bjradiation {C)conducti
(Direflection (Elinduction

When an atom loses or gains a charge,
becomes: (Alanelectron  (Bjan ion
(Clancutron  (D)aproton  (Eacathode

The process of energy production im t
sun is: (Ajnuckear fission

(B)nuciear fusion  (C)electnon collision

{ Dradicactive decay {E}electron transfer.
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SOLUTION TO 2006/2007
NAU POST - UME SCREENING PAST
QUESTIONS
FOR
ENGINEERING & ENVIRONMENTAL
SCIENCES -COMPILED BY BRAINFOLDER

1. *Diark horse” - & person about whom little is
known, especially one with unexpected
abilities. Ans. C

E - with fright and agitation

C - editorial

A - falled

O-

A~ He was weak and unable to enforce his
authority

D - exact

B - dislike

B - deceived

Perjury is committed when one swearsto a
statement known to be false Ans. B

11. B-limelevant

12. D - accept responsibility

13,  A-speak in support

14. € - uses his hands and arms-as a sign

15, D - whistle

16. € - the person thinks over the idea

17. D - protected against it

18. B - failed to maintain his position

19. D -support

So@N DuawN

=

32. Sum of int.<s of a quad=360"
l.e.p+10+p-30+2p-45+p+15=360
5p-50=360
Sp=410
pP=g2" Ans B
33. Let the total profit =x and A's share =y,
Sum of ratio = 8 and the difference =2
D/4, 2x = 3000
&
X =3000
4
H=K12,000 Ans C
34. Forclass 2A, Total score =35x60
=2100
For class 2B, total score =40x52.5
= 2100
Combined mean = 2100+2100 =4200
35440 75
= 56.0 Ans. B

35. One third =1 =10.3333
3

Ans,. C

36. Total kg for a recipe =7kg .A mulliple of 7
closer to 24.5 is 21 (Le. Tx3which is
equivalent to 3 recipe. Remainder; 24.5-
21=3.5 (half of 7) Recipe of 3.5kg can be
made by using half of each which is 1.25

far sugar. Hence, total mass of sugar
used=2.5x3 + 1.25= 7.5+1.25

20.  A-mementoes = B.75kg AnsC
21.  Lie (recline or resl state)

Pasl lense is lay while Past participle is lain

Ans. D - lay 37. Sum of ratio =7+2+1 =10
22. C-our Smallest share= 1/10 x 5360.70
23. D -had long decayed =M56.07 Ans E
24.  The main person in the question is the

employer (singular) Ans. E - is 38, x+3y=1 _ (1)
25. B -illegitimate X -2y=11__ {2)
26. E-lend Orx=11+2y____ (3}
27. D -audience Subst. (3)inta (1)
28. C - camoufiage 2{11+2y) +3y =1
29, D -exhumed 22+4y + Iy =1
30. D - between you and me 22 +7y =1

4 ns Ty=-21; y=-3
F From (3), x==11+2(-3)

3. =11-6 =5

i DI4, x+y =53 =2 Ans.D

[T

From the diagram, both length & width 39. T = 4yrs, R=8%, A=N330

increases by 1cm i.e Tom by 9em. using A=p {(1+RT/100 )

D/4, Area of frame =Area of 330 =p (1+4xB8M100)

bigger rectangle - Area of smaller one 330=1.32p

i.e A=(7x9) - (6x8) p=330 = N250 Ans.E
=63 - 48 1.32

=15cm’ Ans A )
40. M=3, p=-30, q=7, =7,

K]
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Then, mip+q+r) =3(-30+7+5/2)
=3(-23+°1)
=3(-46+5)

2

=3{"" ::i
=15 NONE

ent, D=1+ 12
=2 km
. #=Tan'('/,)
~ M =Tan'(1) =45’ |
T D=2 km N45'E Ans.C

41 Displ

42. U=0, g=10, H=45m
Using H=ut+'/, gt*
45=0+'/,(10)F

45=5¢t
t'=9
t=3secs Ans.E
43.  Consider the electromagnetic spectrum -
RIVUXY Ans. C
44. A,
45.  Using m=ke
10=58k
And k="/=2g/cm
If m=15g, then,
15=2e
="/, =7 5cm Ans. C
46. VWV, =100cm’, T,=T, P,=P,
=", P,=2pV,=?
Using PV, = BV,
T g 7
100FP = 2P x V,
Ti Ti2
100=4V,
V, =25cm’ Ans A

47. 6 mins is equivalent to 2 half - lives.
D/4, count rate at zero time=400X2x2

=1600 Ans, C
48. B
48 B
50 B

NNAMDI AZIKIWE UNIVERSITY, AWKA
POST-UME SCREENING EXERCISE 20072008
FOR
ENGINEERING AND ENVIRONMENTAL SCIENCES
SHADE [FIRMLY] ONLY ONE ANSWER USING HB
PENCIL ONLY
TIME ALLOWED: 1 HOUR DATE: AUGUST 22, 2007
READ THIS PASSAGE CAREFULLY ANSWER THE
QUESTIONS THAT FOLLOW IT.

PASSAGEA
All over the werld till lately and in most of the world il today,
mankind has been following the course of nature: that is to
say it has been breeding up to the maximum. To let nature:
take her extravagant course in the reproduction of th
human race may have made sense in an agea in which we ar
if we were also letting her take her course in decimating
mankind by the casualties of war, pestilence and famine.
Being human, we have st least revolted against the senseles
wasle, We have started to impose on nature's heartlessness,
ahumane new order of aur own. But once man has begin
interfere with nature, he cannot affard to stop halfway,

cannot, with impunity, eut down the death-rate and at th
same time aliow the birth-rate o go on taking nature!
course. We must consciously try to establish an equilibrium
o soaner or later, famine will stalk aboard again,

1. The author observes

sense . There was & time when mankind did
interfers with normal reproduction.  E. Mature
heartless infts reproductive procecs,

2. Which of these statements does not express th
option of the author A, mankind has started t
interfere with the work of nature  B. many peapl
had died in the past through wan
and disease, C. mankind should nat have th
maximum number of children possible D, mankin
should take care of its children E. man'
present relationship with nature in matters of birt
and death |sahappy one

3. Humane, asused in the passage means
A, sensibie B, Wise C. huma
D. benevolent E. thorough

4, "We must consclously try to establish an equilibrium’

implies that mankind must A, Realistically find a
equation B, Man should control the birth rate

C. Mankind will soon perish of starvation

D. Pestilence causes more death than war

E.Man should change nature’s course gradually

5. The main idea of this passage is that
A. Natureis heartless B, Man shall control th
birth-rate C. Man will soon perish of starvation
D. Pestilence causes maore death than war
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Each of the following words is offered in its correct form 28,  The lotion recommended by the doctor sogthed

and !n some , the incorrect forms. Indicate the correct Chinwe'saching tooth A, calmed B. encited
spelling. C. worsenid, O, extracted
6. (A)ullscap B, foolscap  C. fulscap D, folscap

74, The sun castits shadowon the wall. A reflection

Fi3 A, persevarance B, persarvarance - C. Perseverence B. rays C. substance b, resernhince

D. persavereange
30. Hiwas lockad up for 8 week A, refeased

8. A, sorvinir B. souvenier C, Souvenir D. souvening, B. purished & rermatded D. lockadot
9 A momento B, memento C. nto O m
fle- moment i 31 The lady acted couragecushy when thisves
10, A mischievious B. mischivous C. mischievous attacked her  A.shyly  B. fearlessly
D. mischieveciss Cosevere  D. sour
11. A, dormant B domant C durmant D. doomant 32 To mast people last Chistmas was an austers

period A prosperous B. harsh C. severe D. sour
12, &, bureaucracy B, beureaucracy C. burreacracy

C. betireccracy 13 The chief was generaus in his award of
university schalarship A, noble B, honest C. mean
13 A, aestetic B. aesthatic C. aesthethic D. asstathic D garrulois
14, A, accessory B, acesory C. accesory [, assessory, 34 Chidi is naturally @citurn A, friendly B, Dumb
C. lively D, garrulous

15 A, abattor B. abbattoir C. abattolr . abatoir

35. He is loved for his alfruism &, sincerity

1'5.- .Iﬁu. balLIEL‘HF E.- ballLIEET ':. BEIHI.JSI:ET D. EEI‘IUEI:EF 5_1 annlem E. kir‘dm D. sﬂﬁm

17. A, attrition B. atrittion C. atrition D, attittion ch the option nearest i meaning to the i

[s] or phrase underined
18, ﬁ.g:ﬁgl}uﬂ: B. coroboretion  C. Cormohaorassion 36 You are free to leave the hall A, at an advantage
B. opportune C atliberty  D.right
Select the wrongly spelt words inthese questions )
19,  A.disappointed B.embarassed C. Equippes 37. . Theamead-robbers will surrender their loot to the
D. rhythm customs officials A, give away B, ghveout
Cove in  P.giveup
20.  A.occurrence B, surprise C. personet D, possess
38. The disoussion became animated when the
21, A.quiet B Beliove Clprecede DL opportunity professar camein  Aospecialized B lively
C. mieltectual DO, unruly

Choose the option oppesite in meaning to the 35 Richoitivensane often niggandly in their ways.

word(s)underiined &.beggarly B.sordid C. miserly D. pompous
22, Mr. Aguwas most fexiblein bs instructions A, Rigid
B, correct C. stiff D. Upright aQ, Themusician's popularity is beginning to deciine.

A.ch B. C.shde D, di
3. The university has offered temporary accommedation ST Fe W e pigisccdd

tofts  staff A popular B. permanent  C.

nized D.regular 41, Atemparatureof 20° Cisthesameas: A 36F

B.68'F Cl114% D2SF
24, Mary compdanied that she siept on the cogrse floor

A. smooth B, h' C.bad  D.Harsh 43, Three 5 ohm resistors connectad in parallel have a
v 5 potential difference of E0v applied across the
35, Tony was one of the spectators at the concert combination. The cument in each resistoris
A.ushers B judges C guests D, performers A.ap B.35A C12a D.2aa,
26, The Governor declined to give audience to the 43 An obfect lem placed on the axis 15cm from a
journalists A, Ignored B, acceptad C, forgot D. rejected converging lens forms an image 30cm from the
iens. Thesizeof theimageis: A 0.5cm
L The debtor's husband is flable for his wife's debts B.20cm C.l5m D.2.5m
A unanswerable B, Responsibla
C. Unguestionable D.Accountahle &, When the vapour of a substance is n eguilibrium
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45.

a7,

44,

51,

53,

55.

with its own liquid, it is said to be A Gasenus
B. liquefied €. saturated D, diffused

Which of the following statements is correct? The
reading of pressure of a mercury barometer Is
independent of: A, the atmospheric pressyre B, the
Cross sectional area of the tube C. the density of
mercury D, the temperature of mercury

The motion of the moving skin of & talking drum czn
rightly be described as : A, rotational B. oscillatory C.
transitory D, random

Aprﬁﬁummnd:ersauesbuth:lmeandruelincooking
because inside the cooker the A, Pressure is
constant B. heat is completely trapped €.
temperature is evenly distributed D, Bolling paint of
waler isincreased

The name given to the characteristic behaviour of
substances which set with their length perpendicular
to & strong magnetic field instead of in line with it is
A.magnet B. magnetization ©. paramagnetism

D. ferromagnetism

According to ohms law, the ratio V/R is constant for -
A.anelectrolyte B.adiode C.anelectrode

L. a conductor

Which of the following is not an  effect that can be

produced by an elactric current A, heat B. light
. motion 0. none of the above
An example of a scalar quantity is : A, velocity

B.weight C.electric charge D. acceleration due to
gravity

A figuid in glass thermometer should quickly
register temperature changes. This is
achleved by choosinga  liquid that:

A.isopaque B has a high density

C. has a high thermal conductivity

D. hasa regular expansion

The tire pressure of a car was found to be 150cm Hgin
the meming of a temperature 27° C. Hard driving
in the afternoon raised the temperature of the tire to
57°C. Thetire pressure in the afternoon had

A, increased by 22.5cm Hg  B. Increased by the
15.0cm Hg C. decrease by 15.0cmHg . decresse
21.5emHg

The force responsibie for the moen to remain in its
orbit areund the earth against the gravitational pull of
theearth is : A.centrifugal B, rotational
C.centripetal. D. translational

A hydrometer is an instrument for measuring the

A . density of water in a vassel B. relative density
of & liquid by the method of allocation

C. refative density of a liquid by finding the apparent

57,

B0,

&l.

65

67,

lossin weight D. relative humidity af the air
The point beyond which a stretehed spring does not
return to its criginal length is called

A, breaking paint B, elastic limit

C. release point D. spring constant

The unit of guantity of electricity is called
A, the ampers B.thevalt C, Thecoulomb
0. the ammeter

What is the apparent colour of a red shirt when
viewed in puregreen light? A, red B. green
C. black D. biue

A, device that converts sound enargy Inta electrical
ENErdgy is: A, the hornof 3 motor car
B.aloudspeaker  C.amicrophone

0. thetelephone earpiece

Which of the following c2n be used 10 illustrate the
Brownian motion 7 AL suspension of sculpture in
wm&mnpe

8. smokein a glass container (lluminated by a strong
lghtfombe side C a dusty room swept and
viswed Seough a beam of sunfight
D. boiled distilled

b watar viewed under sunfight.

Thefallowing can be uses of sulphur except.
A pesvention of the growth of fungi

Tl

B Weanizstion of rubber  C. manufacture of dyes

O gosting of steel to prevent rusting

&n acid present in protein is
B aminoacld C. palmitic acld

A, factic acid
D stearic acid .

ﬁmble 9as argon is used for: A electric welding
B. welding brass C. under waterwelding
B stesl welding

Phasphorus I8 stored under water to prevent if from
AL smieliing B. dehydrating
L. catching fire [, becoming inart

Which of the following compounds is aromatic.
A bengene B. hexane C. cyclobutane
D. cyclopentane

Which of the following does not affect the rate of
chemical reaction? A. concentration of the
reactant B. addition or presence of a catalyst
C. size of the reacting particles

L. the enthalpy change for the reaction

A salt which loses mass when exposed to airis
A, hygroscopic B, delinguent  C. efflorescent
0. effervescent

Which af the follawing statements is not correct?

A, carbon exhibits allotropy B, sulphur exhibits
allotropy C. chiorine exhibits allatropy

D. Nitrogen is a gas
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70.
Ad

1.

73

4,

75,

76,

81.

B.5

How many carbon atoms are there in the benzene ring?
C.6 D[D.8

Why Is potassium fluoride added to the electralyts in
the extraction of sodium from fused, sadium -

chloride? A pure sodium chloride does not conduct
electricity B potassium chloride prevents the sodium
produced from attacking the electrodes

C. potassium fluoride acts as a catalyst

D. potassium flugride reduces the temperature at which
chioride fuses.

Which of the following Is used  extensively In
manufactaring photographic chemical A, Aluminum
chioride B zincchioride C.sliverchloride D. Chioride

Catalytic hydrogenation of ol results In the production of
A.soap B, detergent C. butter D. margarine

A sample of ocrange julce 5 suspected to be
contaminated with a yeliow dye. Which of the

following methods can used to detect the dye?
A, decantation B. chromatography
C. distillation D. evaporation

When a solid melts and consequently boils, there is

A. A gradual increase in the average kinetic energy of
the particles B. A sudden decrease In the kinetic
energy of the particles C. A rapid change in tha
nature of bonding of the components 0. A change in
the size of the fundamental particles

Which of the following compounds will indergo addition
reaction (A) Efiwne (B) Butane C. Pentane D, Ethanol

A catalyst which increates the rate of a chemical
reaction does so by (A) increasing the resction
pathway (Bjincreasing the surface area of the
reactant (C) decreasing the temperature at which the
reaction ocours. ( D) Decreasing the activation
energy of the reaction,

Which of the following correctly explains entropy?

(A) The natural tendency for & system to achieve a
greater disordar {B) A measure of the rate
of attaining equilibrium in a reversible reaction

{C) The cause of spontaneity of a reaction

{D) A measure of the enthalpy of & reaction.

The gas that is liberated when iron is heated with
concentrated tetraoxosulpate (vilacids is
A.HS B, 50 c0, D. 50,

Which of the following pollutants Is bicdegradable?
(A} Sewage (B) plastic (C)lead compound
(D) hydrogen sulphide.

X'-4=0,then x =
0. none of the above,

A4 B2 C.-2

After getting rise of 15 %, a man’s monthly salary s

B4,

BS,

g7

91.

g2

93.

M345,  How much per month did he eam before the
increase? (AMI30 (bIN3EOD (C)N300
(D) 396, 75

Asofid cylinder of radius 3cm has a total surface area
of 3611cm’, find its height (A)2cm (B)3cm
(Cld4om (D) 6cm.

The median of the set of numbers 4, 9, 4,
13,7,14,10,175s (). 13 (B)7 (C)10 (D).1%y2.

7 pupils of average age 12 years, leaves a class
of 25 pupils of average age 14 years, If 16 new
pupils of average age 11 years join the dass, what
is the average age of puplls now In the
class? [A) 13years (B)10months  (C)1ly=ars
(D) 12years 71/2 months,

Divide the L.C.M. Of 48,64 and 80 by their H.C.E
(A)20 (B)3D (C)48  (D)6O.

Of the nine hundred students admitted In an
university in 2000 the following are the distribution
by state of origin:  Anamra- 185 Imo-135
Kaduna-90  Kwara-110 Ondo-155 Oyo-225.
In & pie chart drawn to represant this distribution, the
angle subtended at the cantre by Anambra State is
(A} 50° (B) 65° (C) 74" (D) 88

Find the least length of a rod which can be cut into
exactly equal strips each 40 cm by 48cm fength
(A)120cm (B)240cm (C) 360cm  (DM80cm,

A rectangular lawn has an area of 1815 sguare
yards. If its length is 50 metres, find fts width in
metras given that 1 metre equals 1. 1yard,
(A)39.93m  (B)35.00m  (C)33.00m

(D) 30.00m,

A car moves from P to Q at an average speed  of
S0km/h and immediately returns from Q o P
throughthesameroute at an average speed of
B0km/h. Find the average speed for the entire
foumeys.  (A)55km/h (B} 60km/h
(C}67.50km/h  (D)7Skm/h.

In & school 220 students offer biclogy or
mathematicsor both,125 offer biology and 110
mathematics, How many students offer biology
but not mathematics?  (A) 95 (B} BO

(Cy125  (D)110.

The time taken to do pisce of work |5 Inversely
proportional to the number of men employed. If it
takes 45 men 1o do a piece of work In 5 days, how
long will ittake 25men? (A)1Sdays  (B12days
(C)5days (D) 9days.

Simplify 52.4-5,7-3.45-1.75
{C)24.1 (D)24.2

(A)41.1 (B)4LS
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95,

97,

100,

A trader bought goats for N4,000.00 each. He sold
them for N180,000 at a loss of 25%. How many
goatsdid he buy? (A)60 (B)S0 (C)45 (D) 36

A 5.0g of salt was weighted by Amaka as 5.1g.
What is the percentage error

() 20% (B8) 2% {C)1% (D0.2%
Find correct ta one decimal place 0.2453 3/0.306
(4] 0.8 (BJLB (C)80  (D)8.1

A basket contains green, black and blue balls in the
ratio of 5:2:1. If there are 10 blue balls, find the
corresponding net ratio when 10 green and 10 black
ballsare removed from the basket  (A) 1:1:1
(By4:2:1  {Cy4:1:1 (D) 5:1:1

Factorize completely (x-17 -(2x+2),
(A) A+1)(IX+2)(%-2)  (B) (X%-1F (%-2)
(Ch{X+1) (x+2) (DY (X+1Y (%-2).

A student calculated the mean of five numbers as
45.3. While rechecking his working, he discovered
that his total was short by 0.05. What is the correct
mean of the five numbers?
(A)24  (B)1.2 (C)494 (D)65.8

A man bought a second hand car for N250,000.00
and spent N70,000.00 refurbishing it. He then soid
the car for N1,000.000.00, What is the
percentage gain? (A)20% (B)25%

{C) 32% (D) 60%.

N A e

42,

43,

SOLUTION 2007/2008

POST-UME SCREENING PAST QUESTION FOR
ENGINEERING AND ENVIRONMENTAL SCIENCES,

B - nature was heartiess and senseless

D - mankind should take care of its children
D - benevolant

E-man should change nature’s course gradually
A - nature is heartless

B - fookscap

A - perseverance

C- sarvenir

B - memento

C - mischievaus

A - dormant

& - bureaucracy

B - aesthetic

A - Booessory

C-abattoir

D - haluster

A - atirion

Borays
A-releasen
A-shnly
A - prosperous
C-mean
D-garrulious
D -selifichness
C-atliberty
C-givein
B-livialy
- mimerhy
B-wane
C=5{F-31)
g

Then, F=9% + 32
5

Therefare, F = 9320 +32

5

Fm 365432

=68'F Ans, 8
For parallel combination,
The potential drop across each resistor s the same=60Y
Hencecurrent in each resistor, 1=V/R

=605
=124 Ans.C
Imange dist - image size
Object dist. Ohject size
=x
15 1

X =2Zcm. Ans. B

C
0]
B
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47,

In pressure copker, cooking is dona at a temperature higher

than 100°C. Ans. D

44.

W
S0
51
53,

54,

i

5.

59,

1.

RUBRIER2E

Diamagnetic materals align with strong magnetic whike
paramaanetic matarials set with their length
perpendicular. Ans. C

]

o

electric charge has no direction Ans. C

C

B= R J

TI Tz

T, =27 293 = 300K

T, =57 +273 =330

P,=P =150K 330
4 5 300

= 165 cm Hyg

PP, = 165 - 150 = 15cm Hy Ans. B

Moon maintains its orbit because centripetal force balances
the gravitatlonal pull of the sarth, Ans. €

Relative density - hydrometer, Relative humidity -
hygrometer, gas pressure - manometer atmospheric
pressure-baremeter Ans. C

8

G

The colour an object reflects is what we see, A red shirt
under green ight absorbs the green and reflects none
(appears biack) Ans. C

alal

OFFMNnrEoD

On exposune to air, a deliquescent salt sbsorte water and
dissolves in it. Hygroscopic salt absorbs water but do not
dissoive while efflorescent salt loses = water of

crystallization. Ans. C
c

OO0 N

Saturated hydrocarbons (alkanes) undergo substitution
reaction while unsaturated ones like alkenes & alkynes
undergd addition reacticns. Ans. A

D

A \

(8] ‘,’

Asubstance 15 biodegradable if it can be broken down Lo
Inarganic substances by the action of micro-organisms
Ans. A

W .amp

N o=4
Then, x= +2or-2 Ans. D

Let the man's salary b/4 the increase be X, then
115% of X = 345
Le 115x = 345
X= 345 = N300
1015

Ans. C

83.

91.

92.

53,

Tokal surface @rea = 2arh + 201
= 2ur (h +r)
ledsll=2x Zx3(h+3)
7

3611 = 18 .9 (h +3)
h+3=3011=191

18.9
h#+3 = 19]
H = 188cm MNone
Arranging In ascending order,
4,4,7(8, 10)13, 14, 17
Median = 2+ 10 = 12 Ans. D
2 2

Total age of the class = 25 x 4 = 350
Total age of the ¥ puplls = 7 x 12 = B4
Total age of 16 new pupils = 16 x 11 = 176
Total age of pupils remaining = 350 -84 +176
= 4 2yrs
Total no of pupils remaining = 25 -7 + 16
= 34 pupils
Therefore, average age = 442 = 13yrs  Ans. A
34
The HC.F= 8x2 =16
TheLCM=Bx2x3x4x5= 950
Therefore, 360 = 60 Ans. D
16
For Anambra, 185/900x360" =74" Ans C

The LLC.M of 40 & 48 is 240 Ans. B

50m = 1.1 x 50 = 55yards
Area of rectangle = Lx W
Le 1815 =55 x w
W = SSyards
In metres, 33 = 30m Ans. D
1.1
Average speed = 90 + 60 = 75km'h Ans, D

TR

125-X + X + 110- X = 220

235-X = 220

x=15
These that offer biology = 125 - x
Le 125-15 = 110 Ans D
Time, Toe 1

M

Then, T, N, =T, N,

T2= II.HI = Sh&.']j

M, 25
= 9 days Ans D

52.4-57-345-175=41.5Ans B

Let the total cost price be x
75% of x = 180,000
l.e 0.75% = N240,00
Therefore, no of goats = 240,000
4,000
=G0 Ans. A
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a5, SeEmor = Lé.;ﬁ x 100% NMNAMDI AZIKIWE UNIVERSITY, AWKA

POST-UME SCRE @
_ 100 ST S ENINFDiJ(ERCI‘.SE 2008/2009
5
= 2% Ans. B ENGINEERING, ARCHITECTURE, BUILDING,
QUANTITY SURVEYING, SURVEYING AND

GEOINFORMATICS
Instructions

96. 0,24633 = 0805
0306

97

100,

=08{to1dp) Ans A

Sumofratio = 5+ 2 +1 =8
If total no of balls = x
Then 1/8 x = 10
X= HD balls

No of green balls = 5 x 80 = 50

8
Mo of black balls = 20
After removing 10 green & 10 black balls, the ratio
bacomes 40:10: 10
2 Ans. C

This is difference of two squares
=[x +1) + (3% + 2}] [(x +1) - (2% + 27
= (3 + 3) (-x-1)

Let the student’s total = x
X=453
5
X = 226,85
But the actual total = 226.5 + 0.05
ﬂwmfn—e,ﬂumectmm:i;ﬁ,jﬁ
5
= 45.3 Mone

Total cost = 250,000 + 70, 000
= 320,000

Hence, the % gain 5 68%.  Nane

L
)

Time allowed: 1 hour

Shade firmly anly one answer using

HB pencil only

Shade your second cholee of courss in the eolumn
provided {calumn 8)

Date: July 23.2008

From the words lettered A mn,ﬂmsnlhnwnrdwgm;pnr
words that best complotes sach of the following sentences,

1.

10,

1.

12,

Cosmas is a very good friend on
rely. (Adwho [Blwhose {Chwhich (D)whom

I can

A hotel is supposed to be a home away from hom
Mﬁtemewe—_'-rashdlaway from hom
{Aymoved inta {Bjchecked

{C)dropped by (D)checked into

Initally, we were deceived by the beautif
Surmoundings and by the manager's wihic
weswarmand inviting.  (A) reception

(Blintention  (Clconviction {Djconception

Aftar the usual antl shaning of forms, we we
afiowed intoour rooms, (Ajfeeling  (B)filing
{CHfll in (D) filling

Tought the letter by now, (A)to be sent (B)
have being sent (Cito have sent (1) to have to san

Chinwe®s Fver was so atute that she - i
Infection (A} had to have (B}had to had
(C) musthave ({Djouwght to have

I started writing at Sam. It is 10am and by 1lam,
- writing for two hours, (A)will be (Blam
(Chwillhavebeen  {D)have been

The car couldn’t keep pace the motorcycd
especially incongested areas, (A)aleng
(Bywith  (Cldown  (D)on

Obiora couldn't have said a thing like that
(Adcould he? (B)did he? (C)can he? {D)would he

I don't know what to do with these children. Th
are always fighting__ J{A)themselve
{BImyself (Clone  {D)each another

The fishermen threw a stone inta the river and thi
causeda___ (A)sprinkle (Blsparkie
{Csplash (D)storm

Thi play was so interesting that the cla
for quite a long time at the end. (A)spectator
(B)watchers (Clcongregation  (D)audience
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13.

14

15.

16.

17.

18.

19.

20.

~ because of weak structural

(Blcaved

The building
foundation  {Ajumbled
(Clcollapsed {DYsuccumbed

The magazine was by the government for an
offensive publication  (A)prescribed  (B)proscribed
(Clsuspended  (Dipersecuted

Many people reacted to the brutal murder of the
popular musician with  strong (Aindignation
(B)demanstration  (Claccusation  (Djcondemnation

The governor frowned at the _ which slowed down
the implemeniation of policy dedsions, [Albureaucracy
(Blopposition  (Cjaccusation  (Dloondemnation

The doctor the llness as typhoid fever and not
malaria.(Ajprescribed  (Bdiscovered
(Clannounced {Dldiagnosed

Since the writer did not indicate his name, the editor
decided not to publish such Article.

(A)a discourteous (B} ananonymaous
(C)ascandalous (D) libelous

Please lat me have salt in my soup. (A) few
(B)alitte (C) asmall {D)afew

Don't believe all he had told you. (Alwhat
{BYwhich (Cithat (Djthere

Ineach of the following sentances, there is one word underfined
and one gap. From the fist of words |etterad A to D, choose the
word or group of words that is most nearly ocppasite in meaning
to the underiined word and that will at the same time, correctly
fill the gap in the sentence.

21.

24,

25,

26,

Joseph purchased various articles at the big sale near the
supermarket and, surprisingly enough, he, them all
before he reached home that day.  (A)destroved
{Blbought (Cllent (Escid

In this argument, Martin was my supporier even though
he is often my in other matters. (Alopponent

(Blally (Clopposite  (D)proposer

People who arne normally often turn to be
dauntless heroes in the face of real danger
(Almsteady  (Bicolourléss (Croowardly  {D)bashiful

I encouraged my younger brother totake on law as a
profession whife T ___ my sister from doing
50 {AYfinanced (B)warned (Cldissuaded
{D)persuadad

It iz quite customary to inbroduce the guest speaker
but toinsulthim  (A)ilegal  (B)impolite
(Clunusual  (Duseless

John was able to kindle the fire, which my father had
to later (A)Kill {B)switch
(Clextinguish  (D)gnite

Choose the word opposite in meaning to the
wnderlined word and which completes the sentence.

2%
Z8.
29.
3.

3.

32,

33
SORTIE

3%

35

EFA

18,
a9,

40.

7]

One of the armed robber was as daring in his

words at the stake as the other was___ (A)moroses
(B) secrative (C) mtional  {Djtimid

His guispokenness contrasts with the of the
father, (AYhumour (Bl=nbriaty

(Chleafness (Dkacitumity

A guibhy which s a natural phenamenon, coubkd not be
mistaken far a tunnel which is

{Ajsupernatural (B) modern (Cartificial (Dimdtative

It Is curious how Chike can be carefres i his ways
when his brother is so _ (A)eccentric
(Bimeticulous (Cleasy-going  (Djlovabie.

Personally, | give in rather easily when it comes to
armguments, but Emeka will always to his
opinions. (A)heidin  (Blholdon

(C)hokd back {D)give out.

He [ntentionally threw the document away and
somebody _burnt them. (A)carslessly
(Bywillingly  (Claccidentally { Dfoolishiy.

The cops the farmer planted were by
naughty boys (A)sowed (Byweedsad
{Cidestroved (Duprooted.

The man refused to accept the offer of a job in the
rural areas, he preferred one in the Area.
{Ajocal {Burban (C} township
(Dimuricipal.

The young engineer is good at terminating other
peopie’s projects but has not been capabie of

any of his own. (A)integrating  (B)finishirg
{Cycompleting (Dinltiating.

The manager who expected to be given respect was
treated with_____ .{A)dignity {(B)scorn
{Clshame {D)disloyalty.

party while those who had none were_ :
(A} barred (Byreplied {Clexpelled
(Djrestricted.

Too many_theories will not help us, we need to

be _. [A) bookish (B hypothetical

() shirewd {Dpractical.

Mobody expects him 1o show for his
chikdren but he cerainly bestows too much
affectionon them (Alove {Bjconcem
{Cydevotion  (Djhatrad

The challenger at the boxing bournament was crude
and inesperienced in contrast to the champion who
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Was__ (A) great

] (B} exposed
{Clrefined {D)strong

From the word lettered A to D below in each of the
following sentences, choose the word or group of
words that is nearest in meaning to the underlined
expression asitis used in the sentence,

41.

42.

+3

44,

45,

47.

48.

50,

51,

53.

54,

My choice of a partner would be based on character J
not lnoks. (A)Visibility  (B)feasibility
{Clappearance (D)posture.

Mike is very winsome yet his neighbour finds it difficuit
to put up with him. (A) stay with {Blive with
{Citolerate {0} rely on.

The Efik gir has just come out of the fettering room
and her waist is adorned with beads.{A}urrounded
(B}decorate  (C)besieged  (D)defaced.

There are some drugs that could_exacerhate a
particular iliness.(Alheal  (Blameliorate
(Clworsen  {D)defaced,

In accordance with the practice of his refigion,
Raman's body was interred the day he died,
(A) preserved (B)sanctified (C)cremated {Dburied

What you avaid you try to endure,
(Blputoff  (Cdispense with

The decision taken by the panel ks jrevocable,
(Ajirespansibile {Bjunexpected
(Clacceptable { D)irresponsibie and unacceptable,

Death is jnevitable for man.
(Blneccessary  (Ciunavoidable

(A)cast off
(D) tolerate,

{AJessential
{DYimminent.

The superintendent was appalled by the attitude of
some of the employees towards. their work,
i(Alannoved {B)disappointad (Clshocked
(D)depressad

The lawyer's argument of the case was
exhaustive. (A)interesting (Blexaggerating
(Clexhilarating (D) thorough,

In a school, 220 students offar Biology or
Mathematics or both, 125 offer Biclogy and 110
mathematics . How many offer Biology but not
Mathematics? (A)95 (B)80 (C)125 (D)110.

Simplify: 52.4-5.7-3.45-1.75
(CH2.1 (D22,

A trader bought goats for N4, D0D.00 each, He sold
them for N180,000.00 at a loss OF 25%, How many
goatsdid hebuy? (A)60 (B)SO (CM5 (D)36.

(A)41.4  (B}15

A dircle with a radius 5cm has its radius increasing at
the rate of 0.2cms”, What will be the corresponding

35.

36,

59,

61.

3.

67,

Increasein thearea? (A)2r (B)5 (chr (d¥=

A cinema hall contains a certain number of pecph
If 22 Va % are children, 47 ¥ % are men and 84 a1
women, find the number of men In the hall

(A)e3 (B)B4 (C)113 (D)133.

X varles directly as the product of U and V an
Inversely as their sum, If x=3 when u=3.and v="
what isthe value of x ifu=3 and y=37

(A3 (B4 (O (D)o

The length a person can jJump is inversel
proportional to his weight, If a 20kg person ca
jump 1.50m, find the constant of proportionality
(A)e0 (B)3D (C)20 (D)1s.

Find the value of % and y respectively if 3x-5y+5=i
and $x-7y+8=0. (A)-5,-4 (8)4,-5 (C)4,5 (D)5,4.

A trapesium has two parallel sides of length Scn
and Som. If the area s 21em’, find the distanc
between the parallel sides. (A)3cm  (Bl4cm
{Cleom  (D)fom.

mmﬁﬁﬂuenmhﬁﬂmaimﬂrﬁ PtoC
and then Mes due East to R. IF Q is equidistant from
Pand R, findthe bearing of P from R,

{8)090" ()35 (C)225° (D7

An arc of & gedle subtends an angle of 30” on the
circumference of 3 circle of radius 21cm. Find the
lengthofthearc (5 =22/7) (A)1lcm

(B)22erm (C}4om  (D)66cm,

By how much is the mean of 30,56,31,55, 43 and
44lessthanthemedian? (A)O.75  (B)0.50
(€033 (D07

The range of 4,3,11,9,6,15,19,23,27.24.21 and 1§
(e B2 (o3 ()24,

On a pie chart, there are four sectors of which three
angles are 45°,90° and 1357 If the smallest sector
represents N28.00, how much is the largest sector?
(BINGE.00 (BINB4.00  (ChN4E.00, (D¥42.00,

Find the number of committess of three that can be
formed consisting of two men and one woman from
four men and three wemen. (A) 3 (B)6 (C)18(D)24.

A bag contains 5 black balls and 3 red balls, Twvo!
balls are picked at random without replacement .|
What is the probability that a black and a red balls
are picked? (A)15/28 (B)13/28 (C)5/14 (D)3/14. |

If » is the addition of the prime numbers between 1/
and 6, and y the HCF of 6,9,15, find the product of x|
andy. (A)27  (B)30 (C)33 (D)90. |
A 5.0g of salt was welghed by Ikechukwu as S.1a,|
What Is the percentage error? (A)20 (B)2 (C)1
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73,

(D) 0.2

Two brothers, John and Tim, own a store. The ratio of
John's share to Tim' is 159, Later, Tim sells 2/3 of hig
share to John for N720.00. Find the value of the store,
(AJN1.080.00 (B)M2,400.00 (CIN3,DD0.00
(DIN3,600.00

Four interior angies of a3 pentagon are 90
KOO LINS 102K, find the fifth interior
angle. (A)II0° (B)IT° (C)130° (D140,

The slope of 2 straight line displacement-time graph
indieates the (A)distance traveled  (Buniform velociy
{Ejumniform acceleration {D)uniform speed,

A ball of mass 0.5kg moving at 10ms' collides with
another ball of egual mass at rest. If the two balls
move off together after the impact, calculate their
common velodty, (A)0,.2ms" (B)0. 5ms"

[C)5.0ms’  (D)i0ms".

A ball i thrown vertically upwards from the ground
with an initial velocity of 50cms™* what |5 the tokal time
spent by the ball in the air? (g=10ms")

(A)25s (B5.0s (C)1D0s  (D)15.0s.

The moticn of body s simple harmonic if the
{Ajacceleration s directed towards a fixed point and
proportional to its distande from the point

(Bpath of mation is a straight line

(Claccelerstion Is proportional to the square of the
distance from a fixed poink {D)acceleration is
always directed towards a fiwed point.

Which of the following statements about the gaseous
state of matier is not correct? The maolecules of a
substance |n gaseous state  (A)are in constant state
of motion (B)have different speeds

(Chhave a temperature which ks a measure of the
average kinetic energy {OYhave no intermolecular
attractive force.

Which of the following cannot be used to measure the
temperature of a substance?  (Ajvaration of pressure
with temperature (Bjexpansivity of |iguid
(Cichangein  resistance of a conductor (D)change in
colour with temperatures,

The clinical thermometer is characterized by having a
(Alwide range of temperature  (B)wide bore
(Cinarrow bore (D) constriction,

Which of the following is a reason why a
concreteflloor s colder to the bare feet than a
miat an the same floor during the rainy
season?  {Amatis better conductor of heat
than the fest (BImat loses hest to the bare
feetat a faster rate than a concrete floor
(C) concrete floor is a better conductor of heat

[E|

i §

&0,

Bl

82,

5.

86,

87.

than the mat (D)mat loses heat to the
bare feet while the concrete fioor extracts hoat
firiaom them

In which of the following ks the expansion of sollds a
disadvantage? {4 )the fitting of wheels in rims
(BYthe balance wheel of a watch

(Cfire alarms  (D)the thermostat,

Which of the following best explains why a person
SUffers a more severs burn when his skin is exposed
to steam than when bolling water is poured onto his
skin?  (A)steam possesses greater heat energy
per unit mass than boiling water  (Blsteam s ata
higher temperature than bailing water

(Clsteam spreads more easily over a
wider area of skin than bailing water

[D)steam penetrates more deegply into the skin than
bailing water,

The temperature at which the water vapour
present in the air is just sufficlent to saturate it is
called the (AJicepoint  (B)boiling point
{Cldewpoint  {Dsaturation point,

Which of the following Instruments may be used to
measure refative  humidity? {AHydrometer
(B)Hygrometer (Cimanometer (O)Barometer,

An object is placed 36cm from a converging lens of
focal length 24cm. IF a real image, which Is 4em
high, s formed, calculate the height of the object?
{A)2.0cm (BM.Ocm  (C)6.0cm  (D)10.0cm.

The ability of the eye to focus objects at different
distance is callied (Alpower (Blaccomodation
(Cilongsight (D) normal vision,

The unit of inductance is the (A)farad  (BJhenry
(Clampere  (Dicoulemb,

The component of universal indicator satution can
best be separated by (A)chromatography
(B) filtraticn  (C)evaporation  {Dcrystallization.

The number of replaceable hydrogen atoms in one
motecule of an acid indicates it's  (A}basicity
{Blacidity (Clalkalinity (D)pH value.

A measure of the degres of disorder in a chemical
system Is known as the (Ajenthalpy (B)free energy
(Clactivationenergy  (D)entropy.

In amy chemical reactlon, the total mass of the
products s always equsl to that of the reactanls,
This is statement of the law of

(A)definite proportions  (Biconservation of matter
(Cymultiple proportions {D)canstant composition.
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.

91.

92.

93.

95.

96,

g7,

99.

100,

Which of the Ffollowing Is not a property of
magnesium oxida? (Alhigh melting polnt
(B)Dissolution in polar solvents (C) presence of
ionicbonds  (Djlow binding energy.

Calcium Is usually extracted by the electrolysis of it's
(A} trioxonitrate (v) (Bjtetraoxosulphatefvi)
(Cichloride (D)oxide,

When naphthalene on heating changes fram the solid
state directy to the gas state it undergoes
(Alevaporation  (Bisublimation
(Cldecomposition  (DYionization.

When sodium atom forms the ion Na- {AJit gains one
electron (B) it gains one proton (C)it achieves a noble
gas configuration (D) its atomic number Increases.,

Which of the following properties is characteristic of
the halogens? {A)ability to accept electrons readily
(B)ability to donate electrons readily

(C)ability to form basic oxides

(EMformation of coloured compounds.

Atransition metal would be expected to

(AJform oxides with different formulae

{BYhave strong axidizing ability

(Clhave low density (DYhave an
atomic structure with an incomplete outermost shell,

Which of the following properties of atoms generally
increass down a group in the periodic  tabke?
(A)Elect un affinity {B)Electronegativity
(Clionicradius  (Djionization.

Which of the following compounds has hydrogen
bonds between its molecules? (AJHF {B} Hbr
(CHG (D)HI

What product is formed at the cathode during the
electrolysis of concentrated sodium chioride salution
using carbon electrodes? (a)chloride {B}Hydrogen
{C)0xygen {D)sodium

Glucose reduces fiehling's solution onwa rming teo
(A) copper (1) oxide (B} copper (1) axide
(C) copper {I) chloride  (D)copper {11} hydroxide.

Which of the following activities is not a source of alr
pollution? (A)Domestic fires  (B)carban dating
(Cleoal powered stations (Ddgarette smoking.,

SOLUTION 2008/ 2000
MAU POST - UME SCREENING PAST QUESTIONS
FOR
ENGINEERING, ARCHITECTURE
COMPILED BY BRAINFOLDER
D - whom
D - checked into
A = reception
C-fillin
C - to have sent
A - had to have

FHE R o L e

10.
11.
12,
13.
14,

16.
17
1B8.
19,

20,

4.
43,

45.

47.
48.
49,

The sentence is in the real future, hence “will” is
comect for it Ans. C

B with

A - could he?

A - themselves

C - splash

[}a-am

C - collapsed

B - proseribed

A- burcaucracy

heditace: :

B - an anonymous
" little” s used for uncountable nouns while “few”
s lrﬁrm nouns. Ans. B

C - acridentally
D - uprooted

B - urhan

D - initiating

B - scom

[ = restricted
D - practical

O - hatred

C - refined

C - appearance
A - stay with

B - decorate

C - worsen

D = buried

O - tolerane

C - acceptabla
C - unavoidable
C - shocked

D - thorough
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(51) [ _H
e

125-% +x +110-%=220
235-x=220
X=235-220=158
Hence, those that offer binlegy but not maths
=125-15=110 Ans D.

(52), 4-5.7-345175-415 Ans D.

{53)  Letthe tot=l cost price be x
5% Of x= 180,000
e 0.75x=180,000
%=N240,000
Hence, no of goats =240,000
4000 = 60 AnsA

(54)
dr/dt = 0.2ems?,
For a circle, Ares, A =nr’
Then, dA/dr = 2rr
Using dA/dt= dAJdr x dr/dt
dajdr=2nrx 0.2
=0.4xar
but r=5cm
dA/dr=04nx 5
=2nem's” Ans A

155) % of women =100-(22'/,+47'1,)
=100-70 =30%
Let the total no of peaple be x
Then 30% of x =84
0.3x=84
X=280
D/4 no of men = 47.5/100 x 280
=133
Ans D,
(56) xe uv
Uy
X= kuy
u+y
When u =3, v=1,x=3, Then 3 = kidx1)

3+1
3=3k
4

K=4
If u=3, v=3
X=4{3x3)=36
3+3 B
X=6 Ans C,

(57) La

1.5=k
20
Then, k=1.5 x 20= 30 Ans B

(58) 3xBy=-5 (1)
dx-Ty=-8__ (2)
eqn (1)xd: 12x-20y=-20
Eqn (2)x3: 12x-21y=-24
=g
Substituting y=4 in egn (1)
3x-5(4)=-5
3u-20=-5
Ix=15; =5 Ans D.

(59)For a trapezium,
Area= ¥ (a+h}h
21="/, (5+9)h
42=14h
=3
Ans A

60 3 A
" 45°+180°=205"
: Ans. C

(61) Length of an arc = 8/360 x 25 1
=30x2x22x21
360 4
=1lcm Ans. A

{62) mean =30+56+31+55+43+44
6

=250
6 =4317
Arranging; 30, 31,43 ,44,55.56
Median=43+44
2 =43.5
Median - mean =43 5-43.17
=032 Ans.C

(63) Range=largest value - smallest value
=27-3
=24 Ans. D
(64) the 4th angle is 360-(45+90+135)
=a("
Hence, the smallest angle = 45"
If the total amount is x,

Then 45x =28
360"
x=360x28
45 =p 224

D/4, thelargest amt =135 x 224
380 =i+ 84 Ans. B
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(83)

(66)

(67)

(68)

(69)

(70)

(71)
(72)

(73)

2 men from 4men: ‘c,

1 woman from 3 women:'c,
D/4, no of committees="c,x’c,
=6x3

=18 Ans. C
it could be (BR) or {RB)

P(BR)=xf, =¥,

And p(BR) or p(RB)="/,,+"/,, ="/,

=" Ans. A

prime no b/w 1 & 6 are 2,3
and; x= 2+3+5=10
Also, y=H.C.F. 016,9,15=3
Hence, xy=3x10=30 Ans. B
% error = 5.1-5 x100%
5
=01 % 100%
5
=2% Ans. B
Sum of ratio = 11+9=20
let the value of the store be X
Tim's share = 9/20x and he sells
213 of 9/20x to John for 720

Jx =720
10
3x=720
X=mM2400 Ans.B

sum of int. <s =(n-2)180.
let the fifth angle.be p;
P+90-x+90+x+110-2x+110+2x=(5-2) 180
p+400=3x180
p+400=540
p=140

B

Ans. D

m,umou=(m, rm v
{0.5x10)+0=(0.5+0.5)v
5=1v

l.e. V=5mils Ans.C

At max height, V=0

V=u-gt

O=u-gt

T="/,=0.5/10=0.05sec

i.e.time to reach the max. Height.

Since it takes the same time to reach the
ground, total time 2x0.05=0_1sec NONE

(74)
(75)
(76)
(¥7)
(78)
(79)
(80)
(81)
(82)

(83)

(88)
(89)
(90)
(91)
(92)
(93)
(94)
(95)
(96)
(97)
(98)
(59)

(100) B

L Y & S v R o T o -

B

"f-+.'.‘u=1rr

T#I=

L ] f'.=t l"'.‘l ;ﬂzﬂ-ﬂ "n

U=l v=72cm

Also, Image dist = |mage height
Object dist  object height

72=4

36 x

2= 4
x

i

Ans. A

g

TEOPPPODOOONOD>» > DO

Glucose reduces copper (Il) complexes
copper (1) oxide Ans. A
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NNAMDI AZIKIWE UNIVERSITY, AWKA
POST-UME SCREENING EXERCISE, 2009/2010

ENGINEERING, ARCHITECTURE, BUILDING,
QUANTITY SURVEYING, SURVEYING AND

GEOINFORMATICS

INSTRUCTIONS

ll

2.

TIMEALLOWED: 1 HOUR

Shade FIRMLY only one answer using HB

pencil only.
Shade your second choice of course in the

column provided (column B)

Date: July 6, 2009

Fill i the Blank spaces in the following sentences making use of
fhe best of the four options.

1.

10.

The old car_______several times this
year  (Ajwasrepaired (B) has been repaired
(C)hadbeenropaired (D) was being repaired.

You should show some consideration_
the feglings of others. (A)with  (Blto
(C) about (Dfor.

[fhe had entered the room, 1 hirm.
(Alsaw  (Blhadseen  {C) would have seen
(D) will sea,

The horse |5 a winner, {Alyoucan take
thatfromme (B)youcansaylsays  (C) you can
take my wurd for it {Diyou may or may not belleve .

If we went to any FEuropean country,_
Britain, we would need a substantial
armount of money to pay our way.  [A)like
(Blletussay (Clasanexample  (D)ifwesay.

it might not look such a rosy
proposition.  {A) From his viewing proposal
(Blwhen he views the proposal (C) Having
viewed the proposal — (0) From his point of view.

Emeka asamechanicwhen he was young,

butnowheisadriver  (Alhad been working
(Blusedtowork  (C) would have worked
(D) had worked.

The students___ so much noise
while the lecture was going on that the
lacturer had to walk out of the cass. (A)made
(B} had been making {C) were making (D) had made.

In the past, his father used to walk but
nowadays he 1o wark by bioycle.

{A) wias gaing {B) sebdom goes

{C) goes (D) s going.

By the end of the next
he_ hisUniversity education,
{A)would have completed (B will be completing

semestar,

| i

12,

12,

15.

16.

17

18.

15,

20,

21,

(C) shall have completed  (D)must complete,

The telephone in the nineteenth century

and is now used in most courtries in the world.
{A) had been invented (B)was invented
{C}) has been Invented

() would have been Inventad,

The way to stop some frivolous publication is to
the press. (A)gag {B)shackle
{C) bind (D) handcuff.

The exercise must be done possible.
(Alasguickas (Blasquickeras (C)asquickly as
() as most quickly as.

For thelr part in the unsuccessful the
miutineers were court-martialed.

(Alcoopes  (Blooupes (Clooupe

The chairman ruled the impertinent
speaker . (A)according toorder
(Blout of order  (Clearrectly  {Dcontrary o order,

(0] coup.

Your approach to the problem is
different  ours. (A)as (B)iike

{C) frem (D) to,

They_____  our donation with thanks.
{(Ajrecieved (B) recived

{C)received (D)receipt

You surely want_______ in your Lea,
don'tyou? (A)all milk (B) a milkc
{C}) some milk (D} any milk,

Althouagh he was invited to the party ha was not
welcome, (A)but (Byyet (Ciso (D) because,

1 told him he had no chance. (A) guite by
frankly (B)guitefrankly (C)quitsin frankness
{D) quite being frank.

The passenger walted patiently whilst
they transferred his__ __from the
taxi tothe bus. (&) properties  (Blbaggeges
(Cluggage (Diuggages,

Choose the word or phrase from A to D which has the
nearest meaning to the underined word or words in
each of the following sentences,

22
23.

24,

E25.

He used his saving to bring up his nephew.
(A)accompany (B)feed  (Cllead (D)support.

Mary Is jealows of her sister's sucress. (A)suspicious
(B) bitter (Chmindful (Denvious,

Ourschool prefect s too officious and all of us hate
him because of his behaviour, (&) efficient
(Blefficacious  (C)over-zealous  (D)showy.

The president of our club has sent his
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27

28.

24,

30,

regrets. He may be wnable to attend the
next meeting. (Ayconfusion  (B)esplanations
{C) sadness {DMapologies.

Whenever 1 travel abroad, 1 always  bring, on my
return, photographs, postcards  and  other  small
items as souvenirs. {A) mementoes {B} momentoes
{C) memorials (Dremembrance.

Because our representative In the Natianal House of
Assembly Is an immature and bissed paliticlan, he
takes_jaundiced view of our sacial and eConomic
problems. (A)hazy (B) unclear
(Clprejudiced (Dibright.

His wife for ten years refused point-blank to leave her
matrimonial home even when he brought another
waman inte the house,  (Alboldly {B)pointedly
(Cisharphy {D)bluntiy.

In some parts of Nigeria, people are
ostracized simply because of their
ancestry. {A)abandoned (B)shut off fram
sockety (€} refused education
(D)hated and rendered unhappy.

One of the surest ways o ensure good

health is to have 3 wholesaome and
adequate diet. (A) palatable (B)mixed
{Clhygienic {D)health-glving.

Ehmﬂl-wumwhlchisnppuihhmmirqtnh
underiined word in each of the following sentences.

3,

32

33

35.

36,

37.

The doctor was very genktle with his
patients in the examining room. (A) harsh
(Blrude  (Cirough {Djunkind,

John is 3 disco addict. He takes his studio r 3 t her
lightly. (A)humorcusly  (Bjtedicusty
(Chcarefully (Diseriousty.

My brother s very lazy, He will not take his
studies seriously, His Ffuture |ooks quite
blesk.  (Acloudy (B
(Cbright (Djhuge.

While our most recently elected legislators are
living a fife of gffluence and ostentation, the vast
majarity of thase who elected them into office are
unhappy. (A)influence  (B)pleasure
(Chpoverty {D)consequence.

It & generally befleved that misers are not
loved by many. (A)spenders
(B)spendthrifts (Clsavers {Dhoarders,

My brother's primary school foundation
was solid and this affected his secondary
education. (A)sound  (B)shaky

(C) weak (Dysordid,

Politicians and holders of political
appointments are generally assumed to be
cunning. (Alkind  (B)generous

40,

41.

.

43,

b 7

49.

30,

51.

(C} straightforward  (D)sly.
This card entitles you to attend the fil
show. (Aldisqualifies (B)satisfie
(Cldiscourages (D)proclaims

The increase in transport fares detarre
ourciub from planning an excursion this Yy ea
(Adeferred  (®)irritated

{ Chrestrictad {Djencouraged,

The severity of the harmattan helped m
to complete my writing assignment i
record time because I had no choicebut to loc
myself indoors. (A)warmth (B}mildnes
{Cleniency {Dgentility.

Disgruntied people are indifferent ta an
plans to. dAd the society of evil. (A)differen
from (Blopposed to  {Cjin agreement  wit!
(D}interested in.

Thedaafeuhgrhﬁeul'tmnwjetplanes which
flew across our eompeund vesterday made peopld
fear that an assault on the country might be
imminent. (A)impending (Bshead (Clremoty
(D)eminent,

Many untrustworthy students give Asiy
answers to gquestion which they full
Understand. (A)direct (B)simple {C}truthj
(D)clever,

The Governor upheld the decisicnofthe cabinet
(Adheld up  (B)abolished (C) reversed
(B)malntained,

He is loved for his altruism. (A) benevolencd
(Blsincenity (C)seffishness (Djkindness.

James is naturally taciturn, (A)friendl
(Blchesrful [Clively {DMgamulous.

To. most people; last christmas was a
austere period. (A)prosperous (B)hars
{Cisavers (D)sour,

The chief was gengroys in  his award
university scholarships. (A) nobl
(Blconsiderate (Cliiberal  (Djmean,

The explasive growth of world population has no

been caused by asudden  increase in huma
fertiity,  (A)fantastic {B)gradual
{Cleombustible (D)dangerous.

The Super Eagies iost the mateh beeause thelr
goalkeeper was in a haze most of the Hme.
{(Alindisposed (Blconfused Claler
(D)sleeping,

The height at which the atmosphere
ceases to exist Is about 80km. If the
atmospheric pressure at the ground is 760mmHg, the
pressure at & height of 20km above the ground leve!
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32

53.

a3,

57

a8,

61,

is (A)380mmHy (B)S70mmHg (C)}190mmHg
(4B0mmHg.

A stone of mass 1 Kg is dropped from a
hefght of 10m above theground and it Falls under
gravity. Its kinetic energy Sm above the ground is then
equalte  (A)itskinetic ensrgy on the ground
(Bjtwice Its initial potential energy  (C)its Initial
potentiatenergy  (D)halfits initial potential enargy.,

Ifaaphatﬂnﬂhubnfmdmsjmisfully
immer==d In & cylinder containing water and the water
leval sises by Tom, what ks the madius of the
cyiinge=s? (A]12cm  (Bllom  (C)3Zcm  (D)6em.

The resultant of two forces acting on an
ohject i maximum if the angle between them is
(A5 (B)IF (C)50" (D)L80°

The efficiency of a machine is abways less than  100%
because  (Althe work output is aiways greater than
the work input {B)thie Ipad lifted is always greater
than the effort applied  (Clthe effort applied is always
greater than the load lifted  (D)the velocity ratio is
alwirys greater than the mechanical advantage.

The thermometric substance of an absolute
thermometer is (Alalcohol  (B)mercury
{Clhelium {D)platinum,

Which aof the following metals wil provide the
Cr#= .25t shield against lonizing radiation?
(=0on (Bllead (C)Manganese (DAlumibnium:

Energy sses through eddy currents are reduced by
using  {A) low resistance wires  (B) insulated soft
iron wires (C)few turns of wire (D)high resistance wires,

Which of the following instruments is suitable for
making the mostaccurate measurement ¢ f t h e
internal diameter of a test tube?  (A)meter rule{B) a pair
of calipers{C) a micrometer screw gauge (D) a tape rule,

An object weighs 10N In air and 7N in water
What Is the weight when immersed In a liquid of
relative density 1.57 {A}.5N (BJ467N (C)5.5N
{D)8.5N,

The absolube zero temperature is defined as the
temperature at which (A)thermal motion ceases

(B] the tempersture afthe gasis 273°C

(C)icemelts  (D)the valume of a real gas is maximum,

Which of the following fs not a suitable
method for reduding lossof heatfroma p 1 e ¢ &
of hot iron?  {A)wrapping 7 in cotton wool
(Bipainting it black {Clplacing it in @ vacuum
(D) keeping itin a clased wooden box,

A conceve mirror of radius of curvature 20em
has a pin placed at 15om from ks pole. What
will be the magnification of the image
farmed? (434,00 (B)2.00 (C)1.33 (D)1.50.

E

64.

85,

&7

a9,

7.

7L,

Fra

™,

75,

Birds can perch safely on overhead elediric
power cables without being electrocuted because
(Albirds can withstand high pd of the elactric
cables. (Bjany accumulated charge on the birds is
guickly dissipated, (Cithe feet of the birds
are well insulated (Djthere is no p.d
between the birds and the cables,

Viscosity of a liguid does not depend on
the (A) nature of the liguid (Blarea of the
surfaces in contact (Clnormal  reaction
between the liguid layers

(D)temperature of the Rguid.

An acid presentin proteins s {A)lactic acld
{Blamino acid {C) palmitic acid
{Dstearic acd.

The foliowing are uses of sulphur except
(Amanufacture of tetraoxosulphate (vi)
acid (Blprevention of the growth of fungi
(C) vulcanization of rubber

(DYeoatingof  steel to prevent rusting.

Asaltwhich lases mass when exposedto alr is
{Alhygroscopic (B} deliguescent
{Clefflorescent  (Dheffervescent,

Detergents are better than scaps for
laundry because (A)detergents are
synthetic while soaps are not

(B) detergents are more soluble in water than
soaps  (Clscum s precipitated when soaps
are used with hard water but not with
detergents (D) soaps form soluble salts
with jons causing hardness of water while
detergents do not.

Which of the following compounds is
aromatic? (A}Benzene  [B) Cyclobutane

(ClHewana  (D)Ethane,
Which of the following substancesisused a s an
anaesthetic? [A)JCHI, {(B) CHCI,

(C)CHBr,

Which of the following is a neutral oxide?
(A)Mitrogeni IV ioxide (B} Carbon(IV) oxide
(Clsulphur(VI}oxide  (D)NItrogen oxide.

Which of the following statements is not
correct? (A) Carbon exhibits allotropy
(B)Sulphur  exhibits  allotropy {CiChlorine
exhibits allotropy () Argoniis a noble gas.

The following are heavy chemicals except
(&) tetraovosulphate {(vi) acld  (B) caustic soda
(Cldyes (D) sodium trickocarbonate {iv).

Which of the following k5 not true of the
rusting of iron? (AJRusting s a reduction
PIOCESS (BJRusting of iron takes place in

(DICH,CH.
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76.

8.

BO.

Bl.

B2,

B3

85.

B,

B7.

the presence of oxygen and molsture
(C)The rust formed Is reddish brown
{D)The major constituent of rust is  hydrated iron
(i} oxide.

The most suitable method te use when

separating an  Insoluble solid from a liguid
is (A)evaporation (B)filtration

{C) magnetization {D)distillation,

When an element can exist in bwo or more

forms in the same physical state, the
element is said to exhibit (A)isotopy(B) isomerism
{Clalictropy (D)hygroscopy

Which of the following carbohydrates does
not usually occur in the crystalline form?
(A}Fructose (B)Glucose (CiCellulose
(D)Maltose,

Copper can best be puorified by (Ajroasting
the impure copper in a blast furnace

(B) heating the oxide with coke  (Clelectralyzing
a copper (i) salt solution using the impure opper as
the anode (D)washingthe Impure copper
with sodium hydroxide solution.

A sampleof orange julce lssuspectedto b a v e
been contaminated with ayellow dye.  Which of
the following methods can be used to detect the
dye? (A} Decantation (B)Chromatograhpy
(C)Distiflation (D) Evaporation,

If Okoye scored 75 in biclogy Instead of
57, his average mark in four subjecs would
have been 60. What washistotalmark? (A ) 282
(Bj240 (C1222 {D)210.

Divide the L.C.M.

of 48, 64 and B0 by
their H.C.F. {A)20

(B)30 (CH8 (D)BO.

Find the smallest number by which 252
can be multiplied to obtain a perfect
square. (A)2 (B)3 (Ci3 (D)7

Ekop deposited M150.00 in the bank. At
the end of 5 years the simple intereston 1 h &
principal was NS5.00. Atwhatrateper annum
was the interest paid?  (AJ11% (B)7'/.% (C)5%
(D)3, %

A number of pencils were shared out
among Chike, Tunde and Ifeoma in the
ratio of 2:3:5, respectively, If Chike got 5,
how many pencils were shared out?

(A}IS (B)2Ss (C)30 (D)0,

In 1984, Ike was 2years old and his father
was 45 years old. In whal year was Ike
exactly half his father's age?

(A)1982 (Bj1981 (Cy1979 (D)1978.
A regular polygon of n sides has 160" as

the size of each interior angle. Find n.

i

g9.

9l

93,

95.

a7

{AYIE (B)I6 (C)14 (D12

An open rectangular box external
measures 4m x 3m x 4m. Find the to
cost of palnting the box externally i it ©
N2.00 to paint one sguare metr
(A)MS6.00 (BIMN112.00 (CIM130.
{D¥N160.00,

Of the nine hundred (900) studen
admitted In a .unity school in 2005, t
following was the distribution by state
origin: Anambra{185), IMO (135), Kaduna (9
Kwara (110}, Ondo(155), Oyo{225),

Inpie chart drawn to represent th
distribution, the angle subtended atthe  centre
Anambrastateis (A)50° (B)65" (C)74" (D) 84"

Find the median of the numbe
§9,151.130,161,120,131,131,100,108 and 14
(A)31 (Bj2S (€123 (DH20.

IH Hﬂ M’l of a rod which can

equal strips, each of ei

in length. (A)120
I!‘.']!:Eﬂcm (D) 4B0cm.

lewn has an area of 1
If ks length is 50 metres,
in. meters, given that 1 m
2.1 yards. (A)39.93° (B)35:
{D)30.00,

lnntetsincraasadwzﬂ%

" &5 decreased by 20% to
what s the ratio of the area
' o the Srea of the sgua
- {C15:6 (D)24:25.

SreM20.00forthe - First
wese and NG00 for the next 24

Find his average weekly wage for  the remrr:q
wesks of the year, if his average weekly wage
the whole year |s M30.00.(AW37Z.00 (BJM35,
(CW30.00 (D)M25.00.

By s=elling 20 oranges for N1.35 a trad
makes a profit of B%. What is R
percentage gain or loss if he sells the
20 oranges for N1,10. (A)8% (B)10% (C)1
{D)15%.

Four boys and ten girls can cut a field in 1
hours, If the boys work at {5/4jth the rate
which the girls work, how many boys will
needed to cut the field in 3 hours? (A}l
(B)¥60 (C)25 (D320,

A farmer planted 5000 grains of maize 1
5

harvested 5,000 cobs, each bearing
grains, What is the ratio of the numberof g rain
sowed to the number  harvested? (A)L:S|
(B)}1:5000 (C)1:23,000 (D) 1:250,000,
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98, If the height of two circular cylinders are in the ratio
of 2:3 and their base radii are in the ratio of 9:8, what ANSWERSELDE%L:; ,?3[,;‘&5 i

is the ratio of their volumes? {Aa) 27:32
(B)27:23 (C)23:32 (D)21:27.

1. E - has been repaired
99.  Themeanoftenpositivenumbersis 16, W hen 2 D -for
another number Is added, the mean becomes 18, Find 3. C - would have seen him
theeleventhnumber.  (A)3 (B)16 (C)18 (D)38. 4. C-you can take my word for it
& A-like
100. Convert 3.1415926 tao five decimal g D - from his point of view
I{::E}ﬁl 451‘;13,14150 Eg}i i:léﬁ 7. Since he doesn't work as a mechanic again,
(@13 ; ‘used to work”™ is more appropriate hare,
Ans.B
8. A-made
9 C-goes

10.  A-would have complated
11.  B-wasinvented

12.  B-shackle

13. A-asquickas

14. D-coup

15.  D-contraryto order
16. C-from

17. C-recelved

18. C-some milk

18, “Although” collocates with “yet' Ans. B

20.  B-guite frankly

21. C-luggage

22. D-support

23. D-anvious

24, C-over-zealous

25, D-apologies

25. A-mementoes

27. C-prejudiced

28. D-bluntly

29. B-shutofffrom society

30. D - health-giving. Note: “hygienic” is used if
something is bacteria free.

31. A-harsh
32.  D-seriously
33. C-bright

34 C-poverty

25  B-spendthrifis

36. C-shaky

37.  C-straight forward
38.  A-disgualifies

38. D-encouraged
40,  B-mildness

41.  C-lnagreement with
42.  B-ahead

43.  A-direct

44.  C-raversed

45.  C-selfishness

46. D-garrulous

47.  A-prosperous

48. D-mean

43,  B-gradual

50, B-confused
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(51) 80km exerts 760mmHg
20km - ?
760x20
BO = 180mmHg Ans C
{52) Since 5m is half of the total height, the
kinetic and potential energies are equal at this
point and each is equal to half the initial potential
enargy. Ans. D
(53) equating the volume of the bob to vol.
Increase in the cylinder,",xr’, = =r'h
r.=4r’, butr, =3cm andh=1em
3h
r.=4x3’
3x1
r=236
r.= 6cm

Ans. D

(54) Resullant of two forces is maximum if they
act in the same direction and for such, 8 =0°
Ans. B

(55)using £ = M A, x 100%
V.R

The ratio, M.A/V.R can only be less than one if
V.R is greater than M.A. Ans.D
(56) B (57) B
(58) Ans.B Mote: Energy losses in
transformer can be due to eddy currents,
hysteresis, heat loss or flux leakage.
(58) B
(60) Using R.D = upthrust in lig
upthrust in H.O
1.5=10-W,,
10-7
1.5 =10-W,,
3
4.5=10-W,
W,=10-45 =55N Ans.C
(61) Absolute zero temperature is the temperature
at which the volume of a gas is theoretically zero.
It's value is -273°C or0 K

(62) B
(B3) r=20cm F =", =10em
Also, u=15cm

Using '/, + ', = I,
L=

= =32
30
Y, =V, V=30
Hence, magnification, m="/,="/,,
=2 Ans. B
(64) D

(65) Friction depends on normal reaction whi
viscosity does not. Also, friction does not deg
on area of contact but viscosity do. Ans. C
(66) B(67) D (68) C (89) C (70) A(71) B(7:
D(73) C(74) C (75) A (76) B (77)C
(T8)C(79) C(B0)B

(81) (x+75)/4 =60

X+75 =240
X=240-75=165
...His total mark = 165+57
=222 Ans. C
(82) B.48 |64 80
2/6 810 the H.CF=8x2=18
3|3 4 ‘5 L.C.M. =Bx2x3x4x5 =96(
4/1 4|5 Hence, 960=60
511 [1 s 16
1 I‘J (1 Ans.D

(83) Ans.D-A perfect square s a number wh
square rootis awholenoe.g. 14.9.16.etc.

(84) I=ERT

100
Then, R=100I1
PT
P=150, 1 =55T=5
R=100x55 =22
150x5 3

R=7'1% Ans.B

(85) the ratio Is 2:3:5; sum of ratio =2+3+5=1(
Let the nuber of pencils be x Chike got 5
pencil means, 22 ofx=5
10
le. X=5:

5 x=25 Ans B

(86) let Ike's age in that year be x and his
father's 2x.
24-% =45-2x.
X=21i.e. Chike was 21years old in thai
year which is 1981 Ans. B

(87) /‘-;-F.n__ using n= %Eiilq
x

N=380
20 =18sides Ans.A
i A lar bo
n open rectangular box |
P/ 5 faces,
F Hence, Total surface area
3 e = lb+2Ih+2bh

= 2(4x4)42(3x4) + 4x3
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=32+24+12
=68m’
But 1m‘costs N2
88m’ would cost 68x2 =N136 Ans.C

(89)For Anambra, 185% 360"
600 =74" Anz C
(80) In ascending prder. we have
89,100,108,199 20, 13M131,131,141,161,
Meadian =120+138
2 =125 Ans.B.
(91)The L.C.M. OF 40 & 48 =240
Ans. B

(92) BOm =1.1x50=55yards
Area of rectangle = L x'w
Then, 1B15=55 x w
W=33vyards
In meter; 33

1.1 =30m

Ans.D

93 for the square, area, A =L
for rectangle, area, A =L x W
Where L=120L and W=80 L
100 100
Hence, A=6L x 4L =241 °
5 &5 .28
D4, A =", L' L =24
A, 25 Ans D

(94) let his average weekly wage for the B
weeks be x.
20 x 20436 x 24+8x% =30

52
400+864+8x =1580
8x=296x=37 Ans.A

(85) let the cost price be X=1.25
If the frader now sells at M1.10, he loses MNO.15
D/, % loss =0.15 x100%

1.25

=12% Ans. C

{(96) each boy works at the rate 5/4 of each girl;

5/4 x4boys, =5
l.e. 4 boys work as much as 5 girls this means
tnat 10girls would work as much as 8 boys.
/4, interms of boys, there are 12boys,
12boys did the work in Shrs then how many
would do itin 3hrs
e 12x5

3 = 20boys

Ans. D

{37) no of grains sowed =5000
Mo of grains harvested = 5000x500

NMNAMDI AZIKIWE UNIVERSITY, AWKA
POST-UTME SCREENING EXERCISE, 2010/2011
FOR
ENGINEERING, ARCHITECTURE, BUILDING,
QUANTITY SURVEYING, SURVEYING AND
GEOIMFORMATICS
INSTRUCTIONS
| shade FIRMLY only one answer using HB - pendl
onky
Z, shade your second choice of course |n the
column provided {columng)
Time Allowed:1 hour
Complete each of the following sentences by
choosing the option that most suitably fills the space.

L. If I went to watch the football
I early.{&)shall returm (B} am returning
(¢} wiould return {DYHad returned

makch,

2! He went up quickly and returned [A)fastest
(Blwvery fast (C)fasthy (C)as fast,

X His suggestion s completely the point
and cannat be accepted. (A)to (B) about
(c] besides (D) beside

4 In order to carry out the post-moriem examination,
thedead body was___ [ A)extracted
(Byexhumed  (CYfumigated (D) dispelled

5. The green snake which lives In the gresn grass is
using a perfect (&) shelter {B) under cover
[Clcamoufiage (D} subterfuge

b, Tannysan and Browning lived about the same time
and are thersfore poets.(A) contemparary
(Blcontrary (C)similar (D) contemporaneous

7. If you travel by air you will be given allowance to
COVET (A)aluggage (B} luggage
(C) luggages (D) abaggage

8 Last week, the at the theatre was the
largest T had ever seen. {AYassembly (B} crowd
(C)fans () audience

5. The train rattled along
(Alin  (B)at

e fulispeed.
{(Ciwith (D)on

10 His horrible.  high -pitched laugh on my
nerves, (A)jabs (B)jams (C)jars (D) jeers

11. As he was still owing me one thousand Naira, 1 was
careful notto himany more money,
(AYloan (B)iend (C)borrow (D) credit

1% Before the operation, the dentist found that

the patient's tegth LA have long decayed
(B} have long been decayed (C) had long decayed
{D)Had been decayed.

13. The employer, not the salesman and his
representative,  responsible for the loss
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14,

15.

16.

17

18,

19,

20.

Z1.

22,

23.

24,

25,

26.

27,

In Migeria, the

ofrevenue, (A)are (B)havebeen
(D) are being

(C)is
When the beggar was tired, he __
roadside. (A)lied {B)laid (C)lay

leaving the dass early.
(D) ourselves

down by the
(0} layed

He did not ke
{(Alus (Blwe (Clour
In presenting the case, the vice-chancellor warned
that the Senate should not cite it as a

(A} precedence (B) presedence  (C) presndent

(D) precedent

We got to the viewing centre after the football
Match .(A) has started (B} had started
(C) was starting (D) have started.

of river blindness is about
25 per cent. {A) incident  (B) incidence
(Claccident (D) accidence

We should take extra precaution the
kidnappers come back. (A) may be (B) should in
case (C)incase (D) perhaps

What a relief that the strike when it did.
{A) would end (B) was ending {C) ended
(D) has ended

He played the piano an hour or bwo,
(A) around (B} in about {C) during (D ) for

He sent the childrenouttoplay . he
Might be alone. (A) because (B) since (C) so that
(D} while

It is time we . (A} should be going
(B} ought to go (C) go () went

Do you know if the new teacher yek,
(A)isarrived (B)will bearriving (C) hasarrived
(D) had arrived

0ji is not far from here, itis onby an "
{AYhour of driving (B) hour by driving
{C) hour drive {D) hour's drive

The new leader has good Intentions but he is
unable to (A carry them with him

(B) carry them on (Clcarry them out

{0} carry them all

We travelled all night and armmived
Jibowu motor park at six o'clock In
morning, (Alat (B)by (Clon  (D)in

the
the

During the swearing in ceremony for a second
term, ‘the Governor the activities of his
government for the past four years,

(A) reiterated (B) reviewed (C) restated

(D) recited

29,

30.

31

32.

33

34

35

39,

41.

42,

43.

move

The giant hydro-electric project is among the
of colomial rule In northern Nigerta.(A) inheritan
(Blevidence  {C) legacies {Dremnants

The Vice-Chancellor will be travelling to China. |
his absence, the Deputy Vice-Chancellor
{Administration ) will _ thie University.

(A} take over {B) overiook (B) care for

(C) ook after

The prices of cars have become
(Byunbearable (C)harsh

e {A)Painful
(D) exorbitant

I had trust in the boy before he woeful

disappointed me. {A)essential  (B) flagrant
(C}absolute (D) effective {
We need to Our resources in these hard time

(A}sgimnder {B)=conomize (C)minimize
(D) wirthihaid

Paul's  soothing remarks were made |

_John's 2 {A] rekindle
(Bjsccommedate  (C)mollify (D) petrify
The poor boy was when he stepped d

Bewie (A)blazed  (B) electrified  (C)burnt
(D) slectrocuted

The politician ran to anothertoseek
(A} refuge (B)safeguard (C)safety (D) priva

The governor ordered that the work done by a

contractor should be properly __ soastokn
correct amount to pay. (A) commect (B) accoun
{Clinvestigated {D') probed

The university awarded doctorate degr
1o four distinguished members of the cummm:
(A)honourable  (B)ceremonial  {c) honorary
() honourary

The students threatenad to embark on a [ |
fectureif thelr demand were not met.

(Alsuspension  (B)boyeot (Cirejection
(D) boyrott
The late politician had an ambition to rule

country. (A)insipid (Bjinfantile (C)inordinate
(D) obtuse

The slope of a straight line displacement
graph indicates the (A) distance tr
(Bluniform velocity () uniform speed
{2} uniform acceleration

A man will exert the greatest pressureona  bend
when he (A} lies flat on his back {B) lies flat an b
belly (C)stands on bothfeet (D) stands on on
foot only

another ball of equal mass at rest, If the two ba

A ball of mass 0.5kg moving at 10my's collides w!
off together after the impact,

calculate th
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44,

- A

43,

k.

2.

55.

comman velocity. (A} 0.2ms* (8)0,5ms ' (C)
(D} 2.0ms*

5.0ms

A ball is thrown vertically upwards from the ground with
an initial velecity of Sbcms.” What is the total time
spent by the ball in the air? (g=10ms").
(A)2.55 (B)S.0s  [C)10.0s  (D)15s
Which of the fellowing cannot be used to measure the
temperature of & subistance? (A) variation of pressure
with temperature (8) expansitivity of a liguid (Cchange
in colour with temperature (D) thermoelectric effect

The dinical thermometer is characterized by having 3
(Mwide range of temperature (B)wide bore
(Cinamow hore (D) comstriction,

Which of the following is a reason why a concrete floor
fesls eolder to the bare feet than a mat on the same
floor during the rainy season? (A)Mat Is 2 beker
conductor of heat than the feet (B)Mat loses heat to the
bare fieet 3t 3 faster rate than concrate floor

{OMat = a better conductor of heat than the floor
{D)Concrete floor Is & better conductor of heat than the
mat.

In which of the following is the expansion of solid 3
disadvantage? (Ajthe fitting of wheels in rims

(@ fire arms (Cithe balance wheel of a watch
{L)the thermeostat,

The teapeic v at which the water vapour present in
the air is just sufficient to saturate it is called the (Aice
poirit {B)boiling point {Cisaturation point { Cdew paint,

Which of the following Instruments may be used lo
measure relative humidity? (A)Hydrometer
(BiBarometer (CiHygrometer  (D)Manometer,

An object is placed 36cm from a converging lens of focal
length 24cm. If a real image which 1s 4om high is formed,
calculate the height of the object (A)2.0cm  (B)4.0cm
(Cl6.0cm{D) 8.0cm.

The ability of the eye to focus objects at different
distances s called (A)power (Blaccommodation
{Clnormal vision () long sight.

The change of the direction of a wave-front because of
a change n the velocity of the wave in another medium
is called (A)refraction (B)diffraction (Cireflection
{Dydispersion

A sounding tuning fork is brought near the end of a
pipe containing an air column and the loudness of
the sound Increases. The effectisdueto

(AYan echo (B)resonance (Clreverberation
(DYinterference.

The unit of inductance is the (A)farad (B)heriz
(Chhenry  (D)coulombs,

Which of the following Is not correct about isaotope
23]

EYA

58,

559,

Gl

G1.

B2,

B3

65.

b

&7.

of an element? They have (Althe same neutron
number  {Ejthe same proton number

{C)the same number of electrons

(D }different physical properties,

The motion of the prongs of sounding tuning forks
Is {Ajrandom (Bjrotational {C)vibratoery
(D }vibratory and rotational.

A thermometer has it stem marked in milllmeter
Instead of degree Celslus, The lower fixed peint is
I0mm and the upper fiwed point is 18B0mm,
Caleulate the temperature in degrees Celsius when
the thermometer reads 45mm, (A)67.5%
{B)30.0c (CH5.0c (D10.0%

Which of the following surfaces will radiate heat
energy best? (A} Red {B) White {C)black {D) blue

Which of the following statements Is not correct?
{A)Evaporation takes place only at the surface of a
ligquid.(B} Boiling takes place throughout the volume
of a liguid (C)Evaporation takes place at all
temperatures (D) The boiling polnt of a liguid is not
affected by impurities,

An acd present in proteins s (A) lactic acid
{Bamino aod (C)propanoic acid ([¥palmatic acid

The fedlowing are uses of sulfur escept

(&) manufacture of tetraoxosulphate (vi) acid

{B) prevention of the growth of fungl (C)coating of
steel to prevent rusting (D) manufacture of dyes.

Which of the following compounds is aromatic?
{A}Benzene (B)Cyclobutane {(CiHexane (D) Ethene.

Which of the following statements Is not correct?
{A)Carbon exhibit allotropy (Bjsulphur exhibits
alletropy.  (CYChiorine exhibits allotropy

(D)Argon is a noble gas.

Which of the following comrectly explains why
iodine crystals change directly into the gaseous
state when heatad? (A) odine crystals sublime
(Bliodine malecules are held together by weak
forces  (Cliodine molecules are covalent
(DYiodine atoms are held together by strong farces.

A salt which léses mass when exposed to alr is
(AYhygroscopic  (Blefflorescent  (Cleffervescent
{Mydeliquescent.

Which of the following is a neutral oxide?
{(AlNitrogen {iv)oxide (B) Carbon (iv) axide
{Cysulphur (i) oxide (D} Nitragen oxide.

Detergents are better than soaps for laundry
because  (A)detergents are synthetic while soaps
are not  (B) detergents are more soluble in water
than scaps (Clscum is precipitated when soaps are
used with hard water but not with detergents
(Dysoaps form soluble saits with jons causing
hardness of water while detergents do not.
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71,

4.

5.

7.

79.

During the elecholysis of dilute tetragxosulphate
(vij add sclution, D.05 mole of electrons were
passed. What volume of gas was produced at the
anode? (Gasegus molar volume= 22 4dm’ at s.t.p)
{(A)0.224dm’  (B)0.280dm’  (C)2.24dm’
(D)2.80dm?,

The Solvay process is used in the manufacture of

{A) sodium (vi) oxide (B)sodium tricxocarbonate (i)
C)zodium cxocarbonate (iv)

{D)Sodivm trioxochloride (iv).

Aluminum 15 above fron 10 the electrothemical
Series, yet jron corrodes sasily on exposure to air
while aluminum does not. This s because
aluminum (A}has a lower density than iron (Blls a
better conductorthan inon (C) forms a thin
layer of Inert oxide In maoist air (D) does not corrode
spontaneously,

A catalyst which increases the rate of 3 chemical
reaction does so by (A) increasing the reaction
pathway (Blincreasing the surface area of the
reactants  (Cldecreasing the activation energy of
the reaction (D)decreasing the temperature at
which the reaction occurs.

A sample of orange juice is suspected to have besn
contaminated with a yellow dye. Which of the
following methods can be used to detect the dye?
{A)Decantation - (B)Distillation {C)Chromatography
{ Filtration,

Which of the following compounds has hydrogen
bonds between its molecules? {AJHBr (BIHE {CIHC
{DHI.

Which of the fallowing properties of atoms qenerally
Increases down a group in the perodic tablela)
Electron affinity (B)Electronegativity (C)Tonic radius
{D)lonization energy.

When sodium atom forms the jon Na®, (A} it gains
one electron (B)it gains one proton (Clit achleves 3
noble gas configuration (D)its atomic number
increases,

A transition metal would be expected to

(A form oxide with formulae

(BYhave strong oxidizing ability

(Chave low density (D)have an atomic structure
with an incomplete outermast shafl,

What product is formed at the cathode during the
electrolysis of concentrated sodium chioride
solution using carbon electrodes? (AJChioride
(B)Hydrogen (CiOxygen  [D)Sodium,

Which of the following substances = a suitable
solvent for perfumes? (A)Benzene (B)Ethanol
(Ciwater  (DYTurpentine.

Which of these metals will not liberate hydrogen
from dilute HCI? (A) Copper (Blron (C)Magnesium

o

g1,

82

83.

85,

B,

87

oi.

83,

94,

95.

{B)dinc.

A sales girl gave a balance of #1.15 to @ custome
instead of M1.25. Calculate her percentag
erron (AJ10% (B)0.10% (C)B.0% (D)0.E%.

What value of K makes the given expression
perfect squarem’-8m+ K (4)2 (B} (CIB (D)6,

Factorize 5y'+2ay-3a° (A) (Sy-a) (y+3a)
(B} (Sy+a)(y-3a)  (C)(Sy'+a) (2y-3a)
(D) {5Y-3a) (y+a).

Find the quadratic equation whose roots are x=
orx=7 (Abp+he-7=0 (Bix-Sx-14=0
(Cx-2x+7=0 (D)’ +5x0+14=0,

A stydent meacured the length of a room a
cbisined the measurement of 3.95m. If
percentage: emor of his measurement was 5
whatisthe lengthof the room? (A)3.75m

(BM.18m [CH.20m (D)4.78m.

A rope ofiengih 18m & used to form a sector of

the S2e of the angle of the sector, correct to t
nearest degres BNBF (C33 (2

if. - a-Bloga =log 64, what is a7

Wi angle of elevation of X from Y is 307, IF XY =40
o b i X sbove the level of Y7
(AJl0m (B)20m (C)40m  (D)SOm.

Instesd of recording the number 1.23cm of
fedius of 2 tube, a student recorded 1.3Zem. Fi
#he percentage error correct to one decimal pl
(A6.8% (B)7.3% (C)14.4% (D)15.49%.

An arc of & dircle radlus 7om ks 14cm long. Wh
angle does the arc subtend at the centre of
circle? (A)25.7° (B)44" (C)114.55" (D98’

If 5 imes a certain integer is subtracted From twi
the sguare of the integer, the result is 63. Find
integer. (4321 (B)8 (C)7 (D).

While daing his physics practical, Okoll recorded
reading as 1.12cm instead of 1.21cm. Calculate
percentageerrar, (A)1.17% (B)6.38%
(C)7.49%  (D)9.00%.

In & clasgs of BO students, every student had to stu
Economics or Geography, or both Economics
Geography, If 65 students studied Economics and
studied Geography, how many studied both subj
(A)15 (B)30 (C)35 (DWS.

Solve the equation: 7y'=3y, (A) y=3 or 7 (B)y=0 o
{Cly=00or3/7 (D) y=00r9,

Calculate the surface area of a sphere of radius 7
{A}8Ecm’ (B)154cm’ (C)616em’ (D)1434cm’.
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95

26,

100.

Find the total surface area of a cylindrical container
closed at both end, and with a radius of 7em and height
of Sem. (A)35cm’ (B)154em™ (C)220em’ (D1528cm’.

Find the wolume of the container in the question above
{A)35cm’ (B)1547 (Ci5z8cm’ (DY770cm'.

From the top of a buliding 10cm high, the angle of
tdepression of a stone lying on the horizontal ground s
69", Calculate correct to 1 decimal place, the distance of
the stone from the foot of the building (4)3.6m

(B)3.Bm  (C)6.0m (D)5.3m,

The bBearing of a point X from a polnt Y &5 074", What s
the bedring of ¥ from X7 (ANOS" (B)148" (C)254"
(D)286",

The population of a village is 5846. Express this
number to the three significant figures.
{A)5850 (B)SB46 (C)5840 (D585,

SOLUTION 2010/2011

MAL POST - UME SCREENING PAST QUESTIONS

(1) C - would return

{2} B - very fast

(3] D - beside

(4] B - exhumed

{5) € - camouflage

(&) A = contermporany

| B - luggage

(8] 0 - audience

(8) B-at

(10) C-jais

(11} B-lend

(12}  C- had long decayed

N c-i

(14) C-lay

(15) C-our

{16) [ - precedent

(17) B - had started, Note: the foothall mateh was
already in progress before they arrived

(18) B - incidence

(19}  C-in case Note:We either use "should” or 'in c3se’,

; Shouid in case’ is tautological

{20) C-ended

{21y D-for

(22) C-sothat

{(23) D-went

{24) C-hasarrived

{25) B - hour's drive

{26) ‘Carry on’ is for intentions while 'carry out’ is for
actions Ans. B

(7N A-at

{28) A - reiterated

{29) B - evidence

(30)  C- look after

{31} D - exorbitant

(32} C- absolute

{33} B -economize

{34) C-mollify

(35} D - electrocuted

(38) A -refuge

(37y B - accounted

(38} C - honorary

{39} D - boycott

{40y  C- inordinate

(41) B

(42}  Pressure = FfA, Hence, pressure exerted by a
particular force is maximum when the area is very
small, Ans. D

43y Using m.u+mu,=(m,+m,jv
(0.5x10)+(0.5%0)= (0.5+0.5)v
=V  le v=5mfs
Ans C,

(44) First, we find the time to reach the max.

FOR
ENGINEERING, ARCHITECTURE, BUILDING,
QUANTITY SURVEYING, SURVEYING AND
GEOINFORMATICS.
COMPILED BY BRAINFOLDER

Height.
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At max. Height , find vel, v=0,
u=50cmls= 0.5m/s

Using v=u-gt

T=u/g

=0.5/10= 0,05sec

D/4, total time, 2t=2x%0.05
=0.1sec NONE

(45)C

{46)D

(47)D

(4B)A

(49D

(50)C

(51) 1+1=1
v u f
1=1-1=3-2
V 24 36 72
=1
72; v=72cm

But image drEtEﬂE =image height
Object distance  object height
72=4
36 x
2=4/x
2x=4; x 2Zcm
Ans A.
{52)B
(53)A
{548
(55)C
(56)A
(57)C
] T ——

e A0emm

8-0 =45-30

100-0  180-30
8 = 15

100 150

1508= 100x15

8 =10°% Ans., D

{59} C - A black surface absorbs as well as
radiates heat better,

(60} D
(61) B
(62) B

Ll

(63)
(64)
(65)
(66)
(67)
(68)
(69) During this process, 0,is liberated at the
anode,

MODDO >

200 0, 44e
Hence,
4 moles of electrons--1mole of 0, =22.4dm’
0.05 moles—-----7?
Le. 0.0x22 4
4 =0.28dm’ Ans B.
(70) B~ Solvay process Is for Na.co,; Haber
process for NH& HNO,; Contact process
for SO; & H.SO,.
(71) &
(72) €
(73) € |

(74) B - The stiongest hydrogen bonding is
found n HF because fluorine is the most

{ Eleehmve element. Ans. B
73)

(76) E

(77) A - Transition metals have variable valenc

(78) B

(79) B

(80) Itis only metals which are higher than
hydrogen in the electrochemical series thg
ﬂn:ﬂﬂ hydrogen from dilute acid.

(81) ermor-1395% 1.35=0.1

% error=emor x  100%
Actual value
=0.1 x 100%
1.25
=8% Ans, C

(B2) To make a quadratic expression a perfect
square, we add (b/2a)’ From the egn, a=
b=-8; This means(-8/2)'= (-4)'=16

Ans D

(B83) To factorize 5y"+2ay-3a’, multiply the 1st
the last terms to get -15a%° whose factor:
are -3ayand +5ay Hence
Sy'+5ay-3ay-3a"
=5y(y+a)-3a (y+a)
=(5y-3a)(y+a) Ans D
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{91) Let the integer be x,

(84) Using x™-(sum of roots)x-+product=0, 2x'-5x=63
We have x'- (-247 )3+ (-2x7)=0 2x°-5x-63=0
¥-5x-14=0 AnsB 2%°-14x+9%-63=0
23 %-7 )+ x-7)=0
(85) Let the actual measurement be x. (2x+9)(x-7) =0
%Error=__ error _ x 100% X=-9{2or 7
Actial valus But -9/2 is not an integer. Ans. C
S%=x-3.99
w {92) % error = (1.21-1.12)/1.21 x100%
0.05=x-3,99 = 74449 Ans. C
¥ 0.05x% =x-3.99
¥-0.05%=3.99 (93) o, B5-x+x%+50-x =80
0.95x%=3.99; x=3.99 (o7, 115x =80
0.95 =4.2m Ans C. N T %=115-80
=35 Ans.C
(B6) Perimeter of a sector 2r + 6/360 x 2nr
18 = (2x3.5) + 0/360 x 2 x 22/7 x 3.5 (94) 7y = 3y
18 =7 + 220/360 le -3y =0
11 = 220/360 v(7y-3) =0
B =360x11/22 =180° AnsB. ¥=0or3/7 Ans. C
(87) 3loga + Slog a - 6log a = log64 (95) For a sphere,
(3+5-6) log a= log64 Surface area = 4nr
7 |'C|g a= logb4 = 4x2 /T
Log a’= loghd = 5l6cm’ Ans. C
D/4,a'=64; a=18 Ans C.
(96) Total surface area
(88) e =2nrh+2nr’=2nr(h+r)
o " .=Sin 30° =2x22[7x7(5+7)
2o H= 40 Sin 30" =20m. S

= 528cm’ Ans. D

A
ek

Ans B.
(97) Volumie = nrh = 22/7x7x5

= 770cm’  Ans. D

(89) ermmor=1.32-1.23=0.09
% error = 0.09/1.23 x 100%

=7.3% Ans B, ]
(98) 10/x = tan 69°
s X =3.83m Ans.B

=

{90) Length of an arc, L= 6/360 x 2nr

D/4, 14=8/360 x 2 x 22/7 X 7 (99)
14 = 446/360 i
=360x14/44
=114.55" Ans C.
(100) 5846 to 3s.f,
=5850 Ans. A

=



USER
Sticky Note
DON'T FORGET TO PRAY WITH MODESTY, DEVOTION AND ATTENTION.  THERE IS NOTHING THAT GOD CANNOT DO. 
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